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UB01CCOMS53 : Business Mathematics & Statistics - 1
Total Marks : 70

Que.1
{a) Explain with one illustration: (6)
Singleton set, Union of sets, Intersection of sets
(b) If A= { 3,5}, B={ 2,5} and c={é,3} is given than prove that (6)
AX (Bn €) = (AXB) n (AXC)
4 5-7
(cYH | -2 k 6| =43 is given than find value of k. . (6)
1 k1
O.R
(a) write any five rules determinant . : {6)
{b ) Solve following equations by Cremer’s rule . {6)

. 2x-3y=3 ; Sx-Ty=2 .
{c) HA={ XIX<9,XecN},B={Y/3<Y <7 ,YEN, Y is an odd number} and (6}
C={z/1<2z<7 ,zE N,z is an even number } than prove that

A-(BUC)= (A-B)n(4-C)

Que.2 _
(a) Explain with one illustration: Matrix, Transpose of a matrix, (6)
and Symmetric matrix.

() If ‘:\=[21 ‘_11] and B=| 41 1 ] given than verify (A +B)*= A% B (6)

(c) Solve the following equations using inverse matrix. (6)
5x - 12y #4 =0 ; X =6y ~—1 =0

O.R
(a) Solve the following equations using inverse matrix. {6)

a +2b+3c =6
2atdh tc =7
_ 3a +2b +9c¢ =14 _
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w1 -1 |4 -2 - '
(b) If A--[2 3 ] . B= » 1) findAB and BB )
7 - ’ .
(c)lfA:[g o|s Find A+A +A1 (6)
Que.3
(2) Explain: Simple interest, Compound interest and Annuity . (6)
( b) Find the compound interest of Rs. 50000 at 7% per annum at the (6)

end of two and half years if the interest is calculated half yearly.

{ ¢) A certain sum is borrowed from a money lender at 14% of simple (5)

interast. At the end of 5 years Rs. 8000 is paid és interest than find the sum,
O.R

(a) Raman Bhai invest 5000 Rs . each year in Tata finance at the interest {8)
rate of 14% , find annuity after 10 years.

(b) A company has given 8000 cumulative debentures of Rs.100 at 12% rate (9)
of interest. Company has to return amount with interest after 7 years. For
sufficient fund on maturity company wish to take certain amount in sinking
fund and want to invest at 15% . Find provision of amount for sinking fund at
the end of each year.

Que.4
(a) Explain Interpolation and extrapolation with illustration and give its (8)
assumptions .
(b) From the following data by using Newton’s Method interpolate y {9)
for x=22

x 10 15 |20 25 30

y 25 30 40 46 50

O.R

(a) Estimate the value of y for x=50 by using Binomial expansion . (8)
Method for the following data:

X 35 40 45 55 60

y 20 32 40 56 72

(b) Using Lagrange’s formula estimate value of Log 45 for the following data: (9)

Log 40 = 1.6021, Log 48= 1.6812 , Log 50=1,6990
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Que.1
(a) A5 GEL8Q Al UM ¢

sl oL, owEllelt AL, oGl BE
(b) R A={3,5}, B={2,5) %A C={2,3} Wt &2 ll ol 533
AX (BN ) = (AXB) n (AXC)

4 5-7 .
€) A | -2 k6| =43 wlda da d kol Bud Q..
1 k1

v el
(a) Raalsel Adua uia Rl ggudl.
(b) (Aot w{ls20oll G3et Frrett Flan Ul Andl.
. 2x-3y=3 3 5x-Ty=2
(c) ALA={ XIX<9XEN},B={Y/3<Y <7 ,YEN, Y R4 Advall B } sl
C={z/1<2z<7 ,z€ N,z A dva 8.3 8ot A wld sAd

A-(BUC)=(A-B)n(@A—C)

Que.2
(a) A8 G163 U&ld wmcl : AQs , udlad ARls ua AR Alls

m & A=} 1] wd B=[1=_11] wilel 8lat Al usiel 3 (A + B)?= A% B?

2 -1 4
(e) catect AQs o e ol Rett s B2t Aadl .
5x - 12y +4 =0 ; x -6y -1 =0
;U o
(a) et AR5 ol uee ol Aol us200-A EZct A

a +2h +3c =6
2a+db +c =7
3a +2b +9c¢ =14

(b) A A=E 3, B=[§ ‘12] 8ol A AB A BB Rad.
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(c)oaA=[§' 57], adl A+A +A7 G4 (6)
Que.3

(a) AHscl: AE Uy , USYE caley AR WoRfe5E] (6)

(b) A catier ofl oelddl £2 © HEA srauul Wddll 2 Al 50000 of 7% ol €3 udl (6)
i olt vel oll A caly ol agLadl 53,

() cu® otz W ol As AssU WH 14% ol AEL cUF Gl Adlt el win  (B)
ad ot ¥d 8000 321t cauy Ay Ysaauul sucel dl B oft giad 3,

vadl

(a) 2GRS 14% ol 63 €2 a¥ 5000 32 it Hellenr ML A 53 D, A ewal  (8)
ugdl Aeytfdl ol ou.,mil 52l

(b) Az Sudll A a[ﬁau 100 ol W& Blckk 12% <RUY ol 8000 5§1yASld Slalotur 20lal B, (9)
Al ol ol QA cally Udlct 28U Ul sclloll B, Wscdl YEA Yt elSlon W2 ws AlssU

250 @A $5 vl A o8 15% ot €3 A5t sl M3 B. e2 o ol A Rosl0L §s

w2 3ecll 28U of vilwel 534 ASAN?

Que.4

(a) ) Aot A odTasdal Gergael ul Al el Aofl tuguadl sl (8)
(b) Al Aoll WBAl urell x=22 MR feotoll {doll GuUA 53 v of uaillal 52,  (9)

X 10 15 20 25 30
Y 25 30 |40 46 50
wiecyl

(@) Buél [Grcruell Aol Heeell k=50 W2 Aol MBA U2ell y ol BHdd]  (8)
ol Hisl 52l

X 35 40 45 55 60

Y 20 32 40 56 72
(b) clales ol {letoll Guallal s3la ool utférﬂ el Logas MEBudsd - (9)

VoMl 52 .

Log 40 = 1.6021, Log 48= 1.6812, Log 50=1.6990
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